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1. How many triangles in the gi ; — ;
haure? y gles are there in the given @ ANwa wfare o fags @ ?
‘/)i x!
< L"L\l\
(A) 14
(A) 14 (B; 16
(B) 16 ©) 12
(D) 10
2. Which temperature in Celsius scale (2) e cEEa ACARDITT (P SIATITT

represents Absolute Zero Temperature?
(A) -237-15°C
(B) -373-15°C
(©) 0C
(D) -273:15°C

3, Father is three times as old as his son. After
twelve years, his age will be twice as that of the age
of his son. What is the present age of the son?

(A) 36 years
(B) 14 years
(C) 12 years
(D) 10 years

‘Absolute Zero® S ICET (IR 2 2
(A) -237-15°C
(B) —-373:15°C
(€) 0°C
(D) -273-15°C

3, Frer I #iEd e foved | 12 397 ¢
I forem I @t WeR Red W, SR g
I T PO ? ]0 29

(A) 36 IR
-2
(B) 14 77 K?*@' Cfﬂz)
\/6123@ QS?Q =25 t,:)_l‘ 7
(D) 10328 - s:’ Lo
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4- If a mirr(\r iS plact\d on ‘h[‘ “"l' MN_ |h(‘||
answer figures is the right image of

the given figure”
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5. Which state of India is the first state 1o start
Coffee plantation?
(A) Andhra Pradesh
(B) Kerala
(C) Tamil Nadu
(D) Karnataka

6. The average of three numbers is 80. The
first number is 10 more than twice the second and
the second number is 10 less than thrice the third.
What is the lowest number?

(A) 28
(B) 66
(C) 26
(D) 68

7. The National Police Academy at Hyderabad
is named after which of the following personalities?
(A) Lal Bahadur Shastri
(B) Sardar Vallabhbhai Patel
(C) Mahatma Gandhi
(D) Pandit Jawaharlal Nehru

8. If time taken to travel between two stations
has to be reduced by 20%, then by what per cent
would the speed of the train has to be increased?

(A) 30%
(B) 15%
(C) 20%
(D) 25%

9. The process of cell division in Amoeba is
termed as
(A) Micosis
(B) Mitosis
(C) Meiosis
(D) Amitosis

(5)

rBSIW(P )20

5. SIAGAHA (@1a1 Atz T e i biET 256N
77
(A) S =ims
(B) (@mata
(C), elfamrary
D) w6

6. foafs ey orw 801 24w A &
Aeara faesraa (2 10 cafs gaz fa@aﬂemﬁa
SRR Fometer (A 10 39 | FAUE (2 A1

o7 2RO "
(A) 28 - 24 ¥\O b;ﬁ*/b
(B) 66 . _at-10
(D) 68 e . 2ne
23 ¥lO X3¢ ,—g Ls—\r‘bo“'is*s—*
- 2 X¥1°
7. TEERIGE wrer Afer efffrwd @Eiv °
(National Police Academy) P& At FI1ZFS 2 c®
) SRR > 4
(B) W% ImeSIR AN 57 0
(©) SR SR %

(D) +f&® eezgee (72

8. T 7o GHHTIR [0 (R T 20%
TACO T, O GI0 GRSt F© *eied I

PO CAJ? too l 2
(A) 30% 3= ¥
B) 15%
(C) 20%

B 25%

9. Wi (zd @I Rewer A T

Je
(A) TRfE %
(B) MRGiFm *

V;?)wﬁv{r
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(6)

10. Torr is the Unit of
(A) Momentum
(B) Work
(©) Force
(D) Pressure

11. Simplify :
(V20 + 1125 - V567) (Jﬁé ++/245 + 9ﬁ)
(A) 1445
(B) 567 W\QC}
(C) 878 \ )
(D) 2012 . -

Wt
3%
"y) ')/

\

12. From the given alternative words, select the
word which cannot be formed using the letters of
the given word:

PHOTOSYNTHETIC
(A) PRONE

(B) COTTON

(C) SCENT

(D) THOSE

13. Which National Highway of India is the
longest?
(A) NH 60
(B) NH44
(C) NH 10
(D) NH 17

14. If ACID is written as 1C3D, PAMPER is
written as PIMP2R, then how will BOMBAY be
written?

(A) BSMB2Y
(B) BAMB2Y
(C) B3MBI1Y
(D) B4MBI1Y

10. Torr HE Unit?
) S (Momentum)

(B) @ (Work)
(C) A (Force)
(D) o (Pressure)

11, FaATAY FCA 3
(V20 + J1125 - \/567) (Jsoo ++245 +9ﬁ)
(A) 1445
(B) 567 o TG D ™ a3
(C) 878 NS
(D) 2012 >3 x|\
12. vz Awmels WM ATty

PHOTOSYNTHETIC *™{6% &= a1l [SERS
JSI AL
PRONE
(B) COTTON
(C) SCENT ~
(D). THOSE »

13. SIFSIRA ST T FATF FIIG ?
(A) NH 60
(BY NH 44
(C) NH 10
(D) NH 17

\V VI

14. W ACID-93 AT ™% 1C3D,
PAMPER-49_PIMP2R T, (3 BOMBAY-43%
e B R 2w e 348 |

(A) BSMB2Y |
(B) B4MB2Y v

(C) B3AMB1Y
| B4MB1Y -~



15. During whose Governorship each Police
station of British India started functioning under
Sub Inspector of Police?

(A) Lord Bentinck
(B) Lord Mountbatten
(C©) Lord Rippon

(D) Lord Cornwallis

16. Which least number is divisible by 12, 15,
20 and 25?
(A) 150
(B) 600
(C) 200
(D) 300

17. What is ‘Fire Ice’?
(A) Propene Hydrate
(B) Methylene Hydrate
(C) Ethane Hydrate
(D) Methane Hydrate

18. Find the fourth proportional of the following
numbers: ‘

111,
3’ 6’ 9’ M
)/
1 \ =
@ 2 M
®) 5
© 3
1
) 18

19. Whose biography is ‘Romancing withlife’?
(A) Amitabh Bachchan
(B) Raj Kapoor
(C) Dev Anand
(D) Dilip Kumar

RaCRS 2

eSOV

@ e ety oA s G AP

wrasarta 2o e w7 2mstgaa st s

27| WE ZAY

(A) 76 A% v
(B) 76 NTHaBa
(C) &6 fasia v
) @6 wlamfas

16. 12,15,20&1«25%@%@%15&@71@@
\2, V5, 29 2((—
(B) 600 ‘1,\|”"\

(C) 200 L/ﬁ
w)(i NTRY

00

@ ‘Fire Ice’ ICS MG (PHLLE (R 2

(A) CRTAT 2R0G0
(B) Riffem 2/20gb
(C) A T20g0
(D) frra= 22we
ﬁaﬁﬁ@ o it ed e ;5@?
111 x ) - TN
36 9’ ';;} 5~ Az
1 2 *
(A) 6 2 -3
1
®) 3 Cm o A?;»’\@
1 6
© 3 2

. X
g 23

19. I GIA AN ‘Romancing with life’ ?
(A) WS Tww
(B) & ez
O i
(D) fcet =
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20.

—
72 24 6
9% | 16 | 1
me > 1R

(A) 18

(B) 20

©) 16

D) 12

21. In 1943, Subhas Chandra Bose formed the
Provisional Government of Free India at
(A) Berlin
(B) Bangkok
(©) Singapore
(D) Rangoon

22. ABCDEFGHIJKLMN

PQRST
UVWXYZ T

Which letter in this alphabet is the eighth

letter to the right of the letter which is tenth letter
to the left of the last but one letter of the alphabet?
(A) 1
(B) H
(O
D) X

23. Shyam borrowed some money from his
friend at simple interest of 6% per annum. He

(8)

20,

6
¥ 96 | 16 | 12
08| ? 18
(A) 18
(B) 20
(C) 16
JD) 12

@ 1943 Aia fsfais (e 21 TSE6H ([
22 FIAW ©ICod SFA (Provisional) FIFIR 5
JRN?

(A) A
(B) IiFs
(C) Fmiem
& G

22. ABCDEFGHIJKLMNOPQRST
UVWXYZ.

AR I o Srald I oz
TR WS FIA S ?

A) 1

(B) H

45 W

D) X

23. "I O O3 IFI IR (A g BRe a9
6% TR 0T A (T | (1 O1 I 57 @ So7eq qraw

returned his friend Rs. 15,600. After how much

_ 15,600 D11 RF4RS (731 1 3 %78 12,000 B 1 ey
time did Shyam return the money if he borrowed

by AT, O3 G FOMET &1 Bisel i Tarfet 2

S. 12, :
(A) 5 years 3:@ T- —éﬁl\{np
(B) 3:5 years o e P
(©) 2.5 years (©) 257w
(D) 8 years SN



24. Which state has recently declared and
celebrated a particular day as ‘Desh Nayak Divas'?
(A) Jharkhand
(B) Odisha
(C) West Bengal
(D) Bihar

25. Six friends, namely, A, B, C, D, E, F are
sitting on a bench. E and F are sitting in the middle.
A and B are sitting in the furthest corner. If C is
sitting just left to A, then who is sitting just right
to B? |

(A) C
(B) E
O A
(D) D

26. Which of the following is not a bacteria
related disease?

(A) Pneumonia
(B) Influenza
(C) Diphtheria
(D) Typhoid

27. CMM, EOO, GQQ, _?
(A) ISS
(B) ITT
(C) GSS
(D) GRR

, KUU

28. 45 men can produce 10000 electric bulbs in
12 daysinaco-operative concern. The concern got
an order to produce 10000 electric bulbs in 9 days.

How many more men would be employed to meet
the order?

(A) 55
(B) 10
(C) 15
(D) 60

rSIWPV20

24. @t Aty Arefes s gwf g M
‘aRteIa At el caraen aa 2 7
(A) alrge
(B) Bfwam
) A
(D) fazra

25. A,B,C,D,E @3z F ¥% %9 9% 43 (A(% A
TR | E 3% F Sai4is acA Sz | A 492 B 2 2%
I | 7 C, A-7 G A A A,
SIZ(E B-3 43I CHAE (& A TMZ?

(A) C
(B) E
C A
D) D

8> — B

26. T @D FFORAE S SR 77 2
(A) et
B) Tl
(C) Tzt v
(D) bizwae
5
27. CMM, EOO, GQQ, _? ,KUU
) ISS
(B) ITT
(C) GSS
(D) GRR

28. @I TR AFW 45 &« P& 12 =
1000015 T I 2T FITS AN | 7B 9 ey
1000070 317 (SRR TS % | Se SfeRe Tosw

I I oot wate =0, TS ST zores st

s 7?‘\“) %M

(B
C) 15
(D) 60
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Hyz:l:();::»‘a? Oil .Corporgli()n's first
plant will be built at

(A) Paradip Refinery

(B) Jamnagar Refinery

(C) Haldia Refinery

(D) Mathura Refinery

‘Gireen

30. 40'clock rain is prevalent in
(A) Yenisei basin
(B) Huang He basin
(C) Nile basin
(D) Amazon and Congo basin

31. Fill in the blanks with appropriate set of
letters:
_a_bca_dabba_bac_c_a
(A) acbdba
(B) acbdab
(C) acdbba
(D) adcdba

32. Buddhist religious scripture Tripitaka was
written in
(A) Sanskrit
(B) Hindi
(C) Bengali
(D) Pali

33. A tea seller blends Tea A worth
Rs. 250 per kg with Tea B worth Rs. 150 per kg in
a ratio of 2 : 5 and sells the mixed blend at
Rs. 200 per kg. What will be his percentage of profit?

(A) 10%
(B) 18% S
(C) 15% o, o
(D) 12% VT T
Sias
o B
O

(10)

g A4y ¢
29. Bfeta A AT G

v % 2047
Hydrogen’ arfh A I
(A) 1At el ik
(B) @itaelsrd raa el N
() v o iRk

(D) w94l oA CIRIE

30. 4 937 3@ (40’ clock rain) fasfAtas
Fite (TS AT AR ?

(A) T SAAfE

(B) @i SRR

(C) TewoE TN

(D) SHIE @ FCR! AP

@ A3 2 faca xﬁmf*aﬁ #7 FCAT 3

1a_bg‘a_dap_ba_bac_c_a

(A) acbdba - c

(B) achdab a 6 b€
(C) acdbbav a Ao
(D) adcdba v s b C

32, (Taiey REGE e Ffe EizEfze 2
(A) TS
B) B
(C) A
) fif

3 SRS 250 SR/ R R A o,

DI/ & WA B BT 0K 2 ¢ 5 Spsiice

GPITEEH | 93919 9% ffdrs st 200 Bret/ R v e
ﬁﬁmwmwwwmﬁw

(A) 10%
(B) 18% TS 0o \$©
©) 15% 938
(D) 12%
'}g(} 18
£ AN
f\g"v




34. G’s father is X's son. Pis G’s uncle. Y is
X's brother. Then how is Y related to P?
(A) Brother
(B) Father
(C) Nephew
(DY Uncle

35. Who has won the India’s Science Award,
Bhatnagar Puroshkar for Chemistry in 20207
(A) Prof. Surjendu Dutta
(B) Prof. Rajat Shubhra Hazra
(C) Prof. Jyotirmoyee Das
(D) Prof. Surajit Dhara

36. In a code language 724 means ‘leaf is
green’, 371 means ‘green and blue’ and 438 means
‘sky is blue’. Then which numbers represent ‘leaf’

and ‘is’?
(A) 7and 4
(B) 2and 8
(C) 2and 4
(D) 2and 7

37. Whose Pen-name was ‘Dhumketu’?
(A) Sharat Chandra Chattopadhyay
(B) Satyajit Ray
(C) Sunil Gangopadhyay
(D) Kaji Nazrul Islam

38. How many pairs of letters are there in the

word ‘CASTRAPHONE’ which have as many
letters between them in the word as in the alphabet?

(A) 5
(B) 6
(€) 4
(D) 3

(11)

5, ‘leaf’ GR

rESIWP)/20

4. G -a9 aral 751 X-97 947 | P 751 G-a7 B!
Y 26 X 99 92| 9erEA Y, P-a @ mme e Y

(A) vl A - P
(B) arat N
(C) SfErat

o e

35. 2020 et T A (& Fe@w owta oo
A SO 7B TS A0 ?
(A) TR Y 76
(B) AT qEOGT FGA!
(C) 2ma (epifesta wit

(D) 2R Fafers 4t

36. G0 ARPCF O 724 W ‘leafis green’,
3719 ‘green and blue’ 93 438 AT “sky is blue’
‘is” (I TR QI ([ARICA I ?

(A) 7R 4 \UL s /1:‘

(B) 243 8

) 2 &2 4 ;/ b
2R 7 ;ﬁ

37, ‘Y I AN feee
(A) *F<EH SEIANGR
(B) Fojfere
(C) A ATAGR
P I e T

'CA @ WS T (SISl ST

wwmmﬁwmawmﬁ
FY SR ? .

(A) 5

B) 6

2 4

(D) 3
[Please Turn Over]



9. Using duplicate application to collect user
password 18 called

(A) Stalking
(B) E-bombing
(C) Phishing
(D) Bullying

40. 4 began a busimess with Rs. 2,250 and was
joined afterwards by B with Rs. 2,700. If the
profits at the end of the year were divided in the

ratio of 2 : 1. after how much time B joined the
business?

(A) 7 months
(B) 3 months
(C) S months
(D) 6 months

41. In human body blood does not clot in
(A) Capillary
(B) Brain
(C) Vein
(D) Artery

42. Sportsperson Deepika Kumari, whorecently
reclaims world no. 1 ranking is associated with

(A) Table Tennis
(B) Wrestling
(C) Kabaddi
(D) Archery

43. If ‘X$Y’ means ‘X is fatherof Y’; ‘X#Y’
means ‘X is mother of Y’; ‘XxY’ means ‘X is
sister of Y’, then how is D related to N in
N#A$BxD?

(A) Granddaughter

(B) Can not be determined
(C) Grandson

(D) Nephew

(12)

39, Gl sifArEe 492 FE JAR[IAL
sAPaS focfy wamas A 71 202
(A) Stalking
(B) E-bombing
9 Phishing
(D) Bullying

40. 4. 2,250 Bl farm @@l A 9% w0
sfga iz B, 2,700 Bt fora ayaa 4% 74| v
AGAA (I TN 2 ;| TG A € B-47 045 21
23, O(4 A &F FAF IS AN 24 B T TS

s!;—
% y?/;:ﬂ—\
(B) 3 ?"f’w\
(C) 5 e
(D) 63

41, NFHAET W S TS TG 104 71 2
(A) =T
(B) &S

42, el Red 9 w99 (ERIG MER TR
(IR (YT K I 2
(A) (BR= G
(®B) 3f¥
(C) waIfe
By fowwie

43. W X$Y’ A ‘X, Y- 3™ ; X4 Y’ M
X, Y4330 ‘X XY’ W X, Y99 @’ 2/, O@
N#A $B x D-(S D IS N-93 A 77Fs ?

ey w21 w7 T N
(©) 7 W (E"
(D) SRt ﬁ;ﬁ*?



.44. Which Indian actor was recently honoured
with the Crystal Award of the World Economic
Forum?

(A) Kareena Kapoor
(B) Anushka Sharma
(C) Deepika Padukone
(D) Priyanka Chopra

45. Who wrote the play ‘Mudrarakshasha’?
(A) Vishakhdutta
(B) Kalhan
(C) Kalidas
(D) Shudrak

46. If the following words are arranged in
alphabetical order which word will come last?

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve

(A) Acquit

(B) Achieve

(C) Accumulate

(D) Actuate

47. Which industry is known as ‘Sunrise
Industry’?
(A) Transport Industry
(B) Construction Industry
(C) Computer Industry
(D) Petrochemical Industry

48. About 80% of the coal reserves of India lie
in the
(A) Mahanadi Valley
(B) Godavari Valley
(C) Son Valley
(D) Damodar Valley

(13)

RBSIW(PI20

44, 72fS @ OO wferEre! WW
Balfara (P @5 e’ wire e ¢

(A) afaa Fez
(B) @laysgt #isff

(C) Rifort Argrai
(D) ferret (1ot

45. Sy’ w07 TRl &2
UA) e
(B) 1=
(C) wifemis
(D) *E<

46. N RIS I TR ASIE P
#{b I S ?
1. Abandon 2. Actuate 3. Accumulate »
4. _é_gquit 5. Achieve y
(A) Acquit
(B) Achieve
(C) Accumulate
Df Actuate

47. RS 2ol e ek @ FaeE
@RI 2
(A) =Rz M
(B) feftal P
(C) FfITo= M
¥ Tt

48. SIS RS FAT 80% (AT Ao R ?
(A) T SRR
(B) (MRS SRR
() RIS
) VTS SRR

- [Please Turn Over)
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49. Choose the ] e
. a : "
resembles the Wﬂter-in:irn‘a“~vc which closely 49, mr;,gwr;rﬁ;m*it'ﬂ'ﬂf'mﬁﬂﬂa@ﬁ"ﬂ ?
NUCLEAR age of the given word: NUCLEAR
v ~
(A) Mucrav y”"g
B ) UNCFEVE ~
(B) UNCreve
© NNC () MNCIEVE
TEVE (D) BVEFCUM
(D) BVErcum
$0. Tungabhadra is a tributary of 50, gxeyl (@ sty Gt ¢
(A) Godavari river (A) (ot Cuil
(B) Kaveri river (B) IR 77
(C) Brahmaputra river (C) F7fd T
(D) Krishna river VQD)/,W;@

51. Which of the following is known as Mixed 51. FE @@ firaify Io1 27 2

gland? (A) TR
(A) Liver ‘,(,Bfr LB
(B) Pancreas
(C) Pituitari © mﬁl
(D) Thyroid (D) o

52. Ifnumber2isin bottom, then which number 52. it 2 725 weH ATE O @i FN =@
is on top on a dice? Toita QI 2

SeH | B8
s ey

(C) 3 ©) 3
(D) 5 (D) 5
53. In which year Sundarban in West Bengal 53, T AIH ARGTAHA Wsﬂﬁ ‘Rew
has been declared as a Heritage Site? AMEG’ (AN A W ¢
(A) 1969 (A) 1969
(B) 1989 ) 1989
(C) 1979 (C) 1979

(D) 1999 (D) 1999



(15)

54. Who was the Director General of National
Government in Tamluk?
(A) Satish Chandra Samanta
(B) Biren Sashmal
(C) Sushil Dhara
(DY Ajov Mukherjee

85, How many two digit prime numbers are
there?
(A) 21
(B) Can't be determined
(C) 23
(D) 25

56. The tenure of each Member of Legislative
Council is
(A) 6 years
(B) 5 years
(C) 2 years
(D) 3 years

§7. Rashik walks 20m North. Then he turns
right and walks 30m. Then he turns right and walks
35m. Then he turns left and walks 15m. Then he
again turns left and walks 15 m. In which direction
and how many meters away is he from his original
position?

(A) 30m West 20
(B) 45m East
(C) 30m East 3

(D) 15m West N

rBSIW(PI20

54, G S AABIAA RIABIED (25 e ?
’_ y,/zr?m 5% HTI%
(B) Hraa =
(C) o= 4l
(D) e s

35 eEs Fouf ENfrs A B2
21

(B) fefar =21 s1@a 7 |

(C) 23

(D) 25

56. R4 SAREWI TETOR CRAMSIE FO 2
6 323
(B) 53=S
(C) 2321
(D) 33=F

57. 3@ Ber i 20 BoR &G W) W3em
TR CA (1 30 O 6 | 93919 WA T faes
T3 35 i T | 3o I o = 15 fow )
O WA AN M@ R 15 o 9w | aP a$aE
I WFT YA (AT IO TR GR @ e =z e

(A) 30 o sifstw

(B) 45 fiom =g . 1
L@ 30 B o

(D) 15 o«
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(B) Si“gap()r(\
(C) India
(D) Russia

59. Which one of the following is not a Dwarf
Planet?

tA) Ceres
{B) Ens
(C) Neptune
(D) Pluto

60. Explain the following relatlonshtp with the
help of Venn diagram: !
Singer. Musician, Doctor

61. The Hindalco Unitat Muri is located on the
bank of which river?
(A) Subarnarekha
(B) Tungabhadra
(C) Kangshawati
(D) Mahanadi

@ ‘INDRA 2021’ FCH15 (R Se 28T
Y

(A) S

(B) Pmiiofa

(C) OIS

) e

59, e @A b AT T2
(A) P
(B) ¥
(C) =pA
(D) 0!

60. (O SRR AR e T==4F0 Jr!

ANAF, RACIE, BT

) | OOO

BYe:»
ke

61. 3fEx e WIFR @I e S RS ?
(A) TTefea
(B) goredl
(C) TR

g



62. The Conce i i
the C onslitutiotltt‘:l" ‘l,:u;?::ll :\“:r ‘gl
(A) Fourth Schcdule‘L
(B) Directive Principlc
() Fundame
(D) Preamble

ate iy includv(l in

S of State p

olic
ntal Righty :

6‘ -\ oa 3 -
' ARATISON Of SO0 men b . . _
24 da_\‘s. 0 men had Provisions fo,

me

(A) 17% days
(B) 18 days
(C) 16 days
(D) 15 days

64. 12, 25,37, 49, 9
(A) 56
(B) 60
(C) 65
(D) 69

65. The ratio of market prices of wheat and
paddy is 2 : 3 and the ratio of quantities consumed

in a family is 5 : 4. Find the ratio of expenditure on
wheat and paddy.

(A) 1:1 2 >
(B) 8:15
(C) 5:6
(D) 6:5 L\

5
s e

66. Which of the following is the world’s oldest
Capital City?
(A) Oslo
(B) Accra
(C) Damascus
(D) Canberra

(17)

RS

RBSIW(P)/20
62. Fwiomy ARA Hrzen® e .
(Blel ‘\5[fj(_b§(ﬂ 35[’\3’({'{9‘ 4 5310w 4 o

(A) b Goffurm

) A% e fertstarpre s
(C) Mo wfvepra
(D) 2grae

Afa4irg

63. «afi (“loliz Zlere, =

3T LG AT

T ST | S8 300 T ey 17T oA, <% T

q (SN g 542 7
2
SR A

% O 2 rifs

(A) 17% Tax
(B) 18 fam
(C) 16 Taw

\,ﬂﬁﬁsﬁ—-{

oI AN

12, 2%, 37@, ?

(A) 56 12 73 1
(B) 60
(©) 65
(D) 69

WSK

%

oL

7

65. %138 AT ASTCIT TANS 2 - 3 9% G

AR I @ A JRET S 5 - 4| o2

SR 51N 8 AR T AR i T e
(A) 1:1

(B) 8:15
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67. Which state of Indi;
§ of India has highest percentage
of forest arca? 18 highest percentage
(A) Nagaland
(B) Madhya Pradesh
(€Y Meghalaya
(DY Mizoram

~

R
68. If 0

S

5
(A) 68 km
(B) 26 km
(C) 66 km

(D) 60 km

th of a road is 45 km, what is the

length ot 7 th of that road?

69. A mixture of dettol and water contains 80%
of water. What volume of dettol is to be added to
60 litres of this mixture, so that the new mixture
contains 75% of water? ’

(A) 8 litres
(B) 10 litres
(C) 6 litres
(D) 4 litres

70. Who was the first recipient of Padma
Vibhushan?
(A) Dr.Bir Bhan Bhatia
(B) Pandit Jawaharlal Nehru
(C) Satyandra Nath Bose
(D) Nand Lal Bose

71. Who is the highest Law Officer in any state
of India?
(A) Solicitor General
(B) Secretary General, Law Department
(C) Attorney General
(D) Advocate General

67. wwmmmwﬁammcf
wA(fnan 2
(A) TG
(B) syt
(C) G

) faara

68. 1% @3 AV % wioe 45 B 28, T €%

(s~ L
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(A) 68 Bf \o ) ]
(B) 26 MW
©
) 60 =
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(©) 65" 1227 ot )
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73‘; Illf/! men agreed to purchase an article for
Rs . If 4 men drop out, how much more (in Rs.)
will each have to contribute to purchase the article
at the same price?

aM

A) 5
A R R

aM-R
B %7

M 4R
MR
4R

D) ———
O SV amr

(@)

73. Recently in which state of India, 300 years
old Sati Stone was unearthed?
(A) Haryana
(B) Tamil Nadu
(C) Gujarat
(D) Madhya Pradesh

74. Mohini is taller than Nita but not shorter
than Sarita. Sarita and Malini are of the same
height. Mohini is shorter than Hema. Among

them, who is the second tallest?
(A) H 7
Can not be determined

(C) Nita 7 Mo7 L\

(D) Moh1n1
MO
we )

75. If height of Mercury in a Barometer
decreases rapidly it denotes
(A) chances of Sunny weather
(B) chances of clean weather
(C) chances of rain
(D) chances of storm

rBSIW(PV20

72. M FAE 57 GG T2 R Wi s e
o7 | AW B 30CH] 4 Fel ST B AR, SR Al
@ a3 wirsl 4l frerrs Arsias 2% Biest caf frs

LIk e

N g -ar = M-y

B) "4k

(©)

4R

D) 32 " am

73. Ao SIS ©IRSAF (I e 300
IR AB S 2T ~GTN (TR ?
(A) T
(B) Sif¥ey
(C) w&En
(D) Ny

74, IR Mo (A 771 58 AT (AT E®
2, TRl =R MR TSt TN | (NIRRT G (A
&G | Sy ama Weg Ao (32

(A) &=
@y Tef ot e
(C) et

(D) iRt

75. % YIRIFOET 2ANVIE T I W, 1
o wrl RS @Wh Sw vt Trae

(A) QUIREE WA TG
(B) 2fR®R WRReTR ASRAl
(C) 3B FsA

B TR e

[Please Turn Over]



RBSIW(P)/20

76. A4 and B can do a piece of work in 10 and
15 days respectively. 4 alone did the work for
4 days and then Bdid it for S days. Thereafter "did
the remaining work in 8 days. How long will they
take to complete the work together?

(A) R days
(B) 3 days
(C) 7 davs
(D) S days

77. If ‘+> means ‘X’, ‘=’ means ‘-’, ‘X’ means
‘+" and ‘-~ means ‘+’, then what is the value of
(2+27-3+2x%x3+2)?

(A) 27

B) 39
©) 37

D) 35

78. The Pompus grasslands are found in which
continent?
(A) North America
(B) South America
(C) Africa
(D) Asia

79. Who became the first Indian woman to win
two Olympic medals?
(A) Saikhom Mirabai Chanu
(B) Lovlina Borgohain
(C) P.V. Sindhu
(D) P.T. Usha

(20)
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80. A sum was put at simple interest at a certain
rate for 3 years. Had it been put at 1% higher rate;
it would have fetched Rs. 5,100 more. The sum
18

(A) Rs. 1,25.000
(B) Rs. 1,20,000
(C) Rs. 1,50,000
(D) Rs. 1.70.000

81. Which one of the following is a Tax-free
Sea port in India?
(A) Mumbai
(B) Cochin
(C) Haldia
(D) Kandala

82. A sum, at the compound rate of interest,
becomes 2% times in 6 years. The same sum
becomes how many times in 18 years?

625
16
125

8

25

(A)

83. Who of the following was named ‘Jagat
Seth’ by East India Company?
(A) Khoja Wajid
(B) Umichand
(C) Fatikchand
(D) Manikchand

(21)

rBSIw(PY2Y '

[ B0, ) N0 G101 A7 A1 3 wmra g e ma
T B A% A G |, et S o
A oy, WA S, 100 G e Aem ors | umo
(Principal) 511 #% fon

(A) 1,25,000 Brat
(B) 1,20.000 Gt

) £
(D) 1,70,000 51
e

Ve

81. fzre @l srarea @2 4BIG 7977
(A) TaZ
(B) @foet
(C) =z
el

82. I ~ifwel B, 5@ T A 6 T2
21529 7T | 6% 433 AT 5IF 18 I=F FOL A ?

625
(A) 16 L S‘/ 2
Jm/l—’@ ?
8 3 %p 3
| 1 <

2

83. RS @R Ife 6 2fTT @i
Tale (1’ ANEFS Al 2

(A) &l eTIfEw
i

(C) ThHoFoM

(D) fedm

[Please Turn Over]



rBSIW(P)/20

84.
If a seller sold two sarees at Rs. 400 each

a .
nd made a profit of 20% on the first and a loss of

2 . g
0% on the second, what is his total profit or loss
on the whole?

(A) 4% profit

(B) 1% profit

() 4% loss

(D) No profit no loss

85. Which of the following is a browser to
access Dark Web?
(A) ios
(B) Tor
(C) Linux
(D) Google Chrome

86. A man standing on the platform finds that
an Express train passes him in 15 secs. If the speed
of the train is 60 km/hr, what is the length of the
train? :

(A) 150 meters
(B) 300 meters
(C) 200 meters
(D) 250 meters

87. Bhaba Atomic Research Center is situated
in which state?
(A) Telengana
(B) Maharashtra
(C) Odisha
(D) Madhya Pradesh

(22)
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88. If 27th September in i
a L Q
then what day will be - year is Saturday,

o, 27th October in the same
y ar!

(A) Saturday

(B) Sunday

(©) Thursday

(D) Monday

89. HCF of two numbers is 32 and their LCM is
1760. What is the smaller number?

(A) 152
(B) 102
©) 110
(D) 160

90. Who Named Kolkata as ‘Alinagar’?
(A) Mir Kashim
(B) Bahadur Shah Alam
(C) Mir Jafar
(D) Siraj Ud Duolla

91. The ‘Pegasus’ spyware, allegedly used for
surveillance of phones recently, was developed
by

(A) USA
(B) France
(C) Canada
(D) Israel

92, If the ratio of principal and simple interest
at 4% per annum for a specific timeis 5 : 2, find the
number of years for which the principal was
deposited.

(A) 15 years
(B) 18 years
(C) 12 years
(D) 10 years

(23)
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93. How man

4’
not followed by oo o o there preceded by 7 but

) 3in the following number series?
1382923521742(»074(,1.13874
J 5(\743‘)583()|8711(s§
(A) Six
(B) Five
(C) Three
(DY Four

94. Which of the following is the longest river?
(A) Brahmaputra
(B) Godavan
(C) Indus
(D) Ganges

95. If a person sells an article at a profit of 5%,
he gains Rs. 15 more than if he sells it at a loss of
5%. What is the cost price of the article?

(A) Rs. 120
(B) Rs. 125
(C) Rs. 105
(D) Rs. 150

96. If 1+4=9, 2+8=18, 3+6=15, then the
value of 7+8="
(A) 30
(B) 32
(C) 23
(D) 41

97. At what rate of compound interest per
annum, the amount of Rs. 10,000 for 2 years 1

Rs. 12,1007
(A) 5%
(B) 11%
(C) 20%

@) 10%

93. Tpa Aoy ARNS PO 4 ST AT AT
7 w1 (5% 203 3 13 7

5932174269746132874
138325674395820187463

A @
g
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96. ¥ 1+4=9, 2+8=18, 3+6=15, O
7 + 8-9F Y F©°
(A) 30
(B) 32
23
(D) 41

97. @ TR IS YER I, 10,000 B
2 A 12,100 BiF I ?
(A) 5%
(B) 11%



98. Padmashri award winner Mouma Das is
assoctated with which field of Sports?
(A) Table Tennis
(B)Y Cnicket
() Lawn Tenmis
(D Badminton

99, The length of a hall is Sm more than its
breadth. If the area of the floor of the hall is 84 m’,
what are the length and breadth of the hall?

(A) 13mand 8m
(B) 14mand 6m
() 12mand 7m
(D) Ilmand 6m

100. On which niver Tehri Dam has been built?
(A) Rawvi
(B) Ichhamau
(C) Iravat
(D) Ganges

(25) RBSIW(PV20
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